integrated sapflow (cm)

integrated sapflow (cm)

Flow vs DBH SP: ALL r2=0.00 chisq=92329.67 Flow vs DBH SP: HL r2=0.07 chisq=28950.28
Zoo T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T Zoo T T T ‘ T T T ‘ T T T ‘ T T T ‘ T T T
: + " | : |
1 + + ] , ]
L + i L i
o +  * +
150 - m 150 - m
Lt + ] —~ ]
Jr
I + o+ ] E
S 1 =
100 |- n + . S 100
L # —+ B o
+ + 0
L + i 5
: - + -
sop  * o+ T 50
07 Il ‘ Il Il ‘ Il Il ‘ Il Il ‘ Il Il ] 07 Il ‘ Il Il ‘ Il Il ‘ Il Il ‘ Il Il ]
0 20 40 60 80 100 0 20 40 60 80 100
dbh (m) dbh (m)
Flow vs DBH SP: SM r2=0.02 chisq=27/727.96 Flow vs DBH SP: YB r2=0.01 chisqg=14863.51
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